Metrics and Moles!

Please solve the following problems. Explain what you are doing by showing units cancelling.

1. 5.6 kg = _____ g 

2. 50 cm = _____ m 




3. 8 mm = _____ cm 




4. 120. mg = _____ g 


 

5. 1 km = ________m 



6. 11 dm = __________ km 


7. 1 cL = _________μL


8. 1 hg = ______cg
 

9. 1 mm = _____km

10. 5.6 daL = _____ cL
More practice with moles! Remember there are 3 conversions you can do with moles, before you begin a problem, decide if you are dealing with 

· particles (atoms), 

· volume of a gas (g), or 

· mass in grams (from the periodic table)
11. 3.01 x 1023 atoms of Cu =

moles of Cu

12. 2.0 moles Na = 

atoms of Na 

13. 3.00 moles of Ar = 

atoms of Ar

14. 100 atoms of Fe = 

moles of Fe

15. 1000 atoms of P = 
moles of P

16. At STP 11.2 L of O2(g)  =  
moles O2(g)

17. At STP 0.0500 L of C2H4 (g) = 

moles of C2H4 (g)

18. At STP 1.5 moles of He (g) = 
L of He (g)

19. 2.20 moles of Sn = 

grams of Sn

20. 24 grams of C = 

moles of C
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